/DIRB
3UDFRZQLN 5RINiDG  GU SGDPVND 6WDURe ORQLND 7\J

SRQLHG]LD3HN

7N\

- RQUXIIDFI
H G
$GDPVND
GIDIRE
ORQIND

3RNyl

7\J

YURTRID T HHPHQIDPL
HINNL Z "GU $GDPVND
GIDUIRE ORQIND = -
375/ =

7\J

-RQVXIDFIH GU $GDPVND
6IDURE ORQIND

3RNyl

7\J

YUR]RILD ] HHPHQIDPL

HANL iZ  GU $GDPVND

6IDURE ORQIND = -
375/ =

7\6] 7\6]

JURJRID ] | DURIRID ]
HIHPHQIDP | [HIHPHQIDP
LHNNL Z LHNNL GZ
GU GU
$GDPVND $GDPVND
6IDURE 6IDURE
ORQIND = | [ORQIND =
-3 -3
75/ 75/

HURGD

7\J
= DUV]HDW DNINZQRGFL
LQUHIHNKXDIQHI GID RVYE
VIDW]\FK GZ GU
$GDPVND 6IDURE ORQIND
z 330 *(5
&

ZINJ IDICFD  PWQ

7\J

3HGD4RJLND GU $SGDPVND
6IDURE ORQIND * (
"(_)+)0

3HGDJIRJIIND GU $GDPVND GIDURE ORQIND =

C

7N\

)+)O0

&]

3w

6R




